Math 121, Test 2, Section #: Name:

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.
Credit will be awarded for correct content and clarity of presentation. This test has 100 points. Try to at

least attempt each part. Please clearly box your answer in each guestion.

1.[3pts] [section 2.2] Find the domain for the function.
fl@)=vz—4 :
rneed X-4Z O o X2y oo {\'&m@ -»[ﬁioa)j

' L2 [2pts] [sectlon 2 2] Suppose that f (1) = 2 and f (1) = 3 can f be a functlon? Why or why not?

Né. A ’ﬁ*nd\oﬂ hM onl avﬁ @w'{‘pam?{ ‘-C.:sr' .
coch (npud. Thy N funchon® wowld £l tha verticed /wz tes

‘ >
3.[5pts] [section 2.2] Find (f o g)(2) given that g(z) = z?and f(z) = {g +3 1; ad Z z
’ T

(£-9)@ = £6@) =F(4) = u+3 = [F]

4.[5pts] [section 2.3] Find the domain and range of the graphed function.




5.[5pts] [section 2.3] Find the zeros of the function f(z) graphed below.

'Z;(os ave oj:
X =-1,0,7

'6 [5pts][sect|on 2.5] leen the graph ofy = f (:z:) construct the graph of y=— f (:1:) + 3 in the blank Xy-
plane provided below.

fAa)=3 = ) ~fl)43= ~Ar3=| ete... P
S
7. FW[section 2.6) Given that f(z) = z? and g(z) = v/z — 4 find the formulas for

(@) (fog)(z -?(Oa(xﬂ -C(‘JX-H‘) e (\Ex""“@ )g"“

b) (f+9)(z) = £06)+G ) ______kxz* «fx::w
© (f) = £ Rt = E(a'\j X—Y 7




Math 121, Test 2, Section # : Name:

8.[5pts][section 2.7] Graph the inverse function of the function graphed below.

‘ 9.[5pts][section 2.711f f(x) = 3 — 4z then find the formula fc;r the inverse furictfo_h f‘l(:z:).
%» - 3~ Yx
X =3-4Y% = MY = B—-X
= \3 q ( T~ X)

10.[10pts] [section 3.1] Write the equation of a quadratic function whose graph has vertex (—2, —2) and
passes through the point (—1, 0). Please put the answer in standard form.

N pambola with vectex (h, H cokishec

Yo eqpokon W= a(X=h) e Hhu

W= a (X-i-’&) .. Whe s a=2

UQQ Yo shhsa ?axfu:‘ (-1, zj) Mhh uéz\elci;
o= ol- 1+2) =2 % 3‘(:}\*3} - .
= 0=06-4 =4=3 “@axv%'g)ﬁ*{;;mig}f




12.[5pts] [section 3.2] Write a formula for a polynomial function f (z) which is of degree 3 and has zeros
atz =1,2,3.

£ = (x-| -2 ~2) /ﬂMM*w%hM‘~
L. b) = (<-1)0x-a)(x ?)] ;ve Lrrect ancuss,

13. [10pts][section 3.2] Given the graph below circle each formula which could'\such a graph.

C(/T { x) == (x+:5xz(xm )z(x«;wﬁ
1 G) feo= <‘><+o>><%<-f) <><-a>
ﬁ( '?(x) f.-(><+\ (x—s) (>< a)
= Q)= xFem)

| e.] £ix) = N L{a.‘.
() £60 (X+ )X x-1)X*x-23)

<No‘h‘(& (6) C‘go&f P net Jawﬁ/w/an% 3\‘%,,\)

14.[5pts][section 3.3] Does the function f(z) = 33z'3 — 2022 — 11z — 2 have (z — 1) as a factor?
Justify your answer either by a Theorem or by an explicit algebraic calculation.

Note ()= 33-20-1l-3 =33-33=0
JO% L thor W& FOQ"QK'-)%@( .EVLS it cloes

nhoeve X=|
15.[5pts][section 3.4]Completely factor f(x) = z® + 1122 — 2 — 11. (Hint: notice that f(1) = 0. )/‘f? act

£ £0) =0 Fhen £6) = =130 . We fng fockoy
94 () by Jons, division.

<% + 13 + 1

X“‘l /X? +lix —x -1

A

At
Vax®-x -1\
LD Sl S t k)= ) )Eeax +11)
\ix -1

USRS,

o

b 1) J =\&=1) O+ 1) (x+ 1)=4




16.[5pts][section 3.4] Flnd a polynomlal function p(z) with real coeffi cnem;_that has zeros z = 2,2, —3.
Notice that i = /-1 so ;2 \_“__.,.,W»-»»wwm‘“mm

Reu‘ﬁ XK= »o‘ Zen @ P """7‘ bJ_fc o Pero
Thee, s
£ = k+1)(X-7) (x=2)(x+3) &« C a,figs{ Cotrech

hes
Cavn ? o3¢

[x +t)(>< a)(m»?) ffx)} o coa%aew%

' 17 [10pts][sect|on 3 4] Completely factor f (:z;) :c + 53: + 7a: + 5:1: + 6 glven that f (.'z;) has a zero at R

\—Q Thy=0 -{'?rwm ﬁ(-z) -:::’f@ ,y{m!
(X-H (X—»L) ®E+] is w Redee of £,
We raed & find G0 svehthed £ = éx* 1) 36
Lom‘ _a_?f_f_,__z_ﬂ.e..,
4+Sx + & 7
&%— B = Pl v S+ L
x1 + % '
%3 + 6x% +Sx+ 6
S%® + Sx
Ex*+ 6
6x® + 6
O

Thus we Find, £6) = (<) (x%+ 5x+§)
Facheing ik [6) = (<1 )(x+ 7)(<+3) ]




